List of Vector methods                	Integer methods     


=================	=================


int size()                        	int intValue()


boolean contains(Object o)	Integer(int value)


Object elementAt(int index)                          


void add(Object obj)





=====================


Part II


1. c. The set S={-2, -1, 0, 1, 2} is NOT closed under addition. An example would be 


{ ...., -2, -1, 0, 1, 2, ...} an infinite set. 


What you need to do is to implement the method such that sum of any two elements is also an element in the set for all elements in the set.


i.e  if  x, y in S  then x + y is also in S for all x and y. Return true if this is the case. Else return false.


Hint: think of the Negation of this statement


==============================


PartII - #2 -  monthlyRate = interestRate/12


===============================


Part II - #2 - chnage to : public  double getBalance( )   


( not  public void getBalance(double b))


    #2 - c)  You only need to derive the class SavingsAccount and complete the method calculateInterest (define constructors, no need to complete them). 





News : Leal has joined Talibans in Afgahanistan :). He is out of my Radar. I will have your assignments alll grades ready by Saturday.


